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a) Amir thinks the area of the rectangle is exactly 20 counters.
Is Amir correct?  Type your answer here

b) Explain below why counters are not the best way to measure area.
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[image: ]Which shape has the largest area?
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Do you agree with Teddy? Type your reasons below.
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A longer object will always have a
greater area than a shorter object.
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Do you agree with Teddy?
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Amir covers a rectangle with some counters.

a) Amir thinks the area of the rectangle is exactly 20 counters.

Is Amir correct?

b) Explain why counters are not the best way to
measure area.
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